M8 - 4.1 - Converting Fractions, Decimals & % Notes

Fraction to decimal:

Bottom goes into Top

1 _ Place | Tenths ] C0.1)
10 Value | Place Bottom [ Top whe 1011.0
Division — 10
0
3 —
" — Calculator
X 25 4 3'0\r/
— 28
3_75 _ Equal Place Hundredth 20
4100 Fractions Value Place = 20
N 0
X 25
Decimal to Fraction: Check
Place Hundredth 100] 63.00
0.63 ooy Lone
Value Place — O6VU Division
300
— 300
0 Calculator
Decimal to Percent
. = @ 0.06 =‘@
0.06 = 6 : Place | Hundredth % 006100 ‘ wr
100 Value | Place 100 Multiply Move decimal 2
decimal by 100 places to the right
Percent to Decimal
19% = = % || Place | Hundredth 19100 : W @)
100 100 Value | Place Divide Move decimal 2
percent by 100 places to the left
Fraction to percent:
x 10
0.0
1_10 = Equal % Long 10[1.0
10 100 Fractions 100 Division  _ '1p 0.1 :
A 0 Multiply
x 10 decimal by 100
Percent to Fraction
+ 25
3 % Equal 75 3 Divide percent by 100
=— ==- — 75% =0.75 = — =—
75% 100 _ % 100 Fractions % 100 4 Place Holder
) O R Equal Fractions
=25
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IS w I - - Calculator!
ki A = Fractions
MS - 4.2 - Percentage Notes OF ~ 100 Cross Multiply
Long Division
What is eight out of twenty as a percentage? % = 40% 2
@ X5 \I/ Test on Calculator!
'
s_w [o_ o] & % 8 _a i
oF 100 | = = | 20700 20 100 o 5.3
0.23 = — 2
A ~J 8 04 calc 00 gz %
Total X5 20 0.045 — " T 99
' 1000
Find 15% of 200. X 2 Cross Multiply -
N Divide % 100 Move decimal 2
X 15 —_— places to the right.
G=30)=> x 15 e 0.0073 = 0.73%
—— FY YT — o
ﬂ = 0.15 Check! ? U 0 100x = 3000 OOOf = 150/((>)A) 0.1 =0.10
200 %2 0.12 = 12%
- ] 5 0.3=133.3%  One Decimal
25 is 20% of what? X 1.25 0.5 = 50%
I 0.66 = 66.67% Two Decimal
25 | 20 1.05 = 105%
9 ~ =100 1.35 = 135%
J 212 = 212%
25 % 1.25 <— Move decimal 2
20 =125 + 100 places to the left.
L | Less than 5 Round Down
Increase 200 by 15% 15% = 0.15 Log|c 1 57@ — 57 Round
. . To
200 % 0.15 = 30 Multiply by the decimal @ 57@ = 5.8 Tenths
200 + 30 Then Add (Or Subtract)| (Y D3 > or More Round Up
200 x 1.15 Multiply by the % you want to be! Check!
M=1+0.15 230—115
A ol s Multiptien = LT Initial x Multiplier = Final | || 200~
: =147
Decrease 200 by 15% @ Find the Percent Change increase from 10 to 12.
200 x 0.15 = 30 M=1-015 Final — Initial
O R M = 0.85 %Change = il
200 — 30 2—-10 2
200 x 0.85 shchange = 2102 o5

Find a number decreased by 20% to be 160 @F Jack ate 4

160
G 2)—> *

80
100

@ j+4 140
j 100

M =100 — 20 = 80% = 0.80

more, 40%
X XOOéE(E)O :_ 1166(()) more than Jill. 100(j + 4) = 140 Cross Multiply
\DQO;C B 160 How many did 100 + 400 = 140j Distribute
0.8 — 0.80 Jack eat! 400 = 40j Algebra
let j = #]ill ate

| M =100+ 40 = 140%

I10+4=14
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